Find the hidden term using below shown figures.




Find it???

Answer: V-belt










Answer: Clockwise



Answer: False



Which one has high load carrying capacity? How?

(@) (b)

Answer: (b) dueto increase of line of contact




Answer: downward direction, because the thrust act in drive gear pushesthe
driven gear to downward direction.



I sthe below figure having self locking capacity or not?

Answer: YES, for that thegear ratio should be gear than 1/45




What type of gear used in this equipment shown below?

Answer: Worm Gear




What type of gear isthisbelow figurerepresents?

Answer: Worm Gear



one the ID!’EVDLS i
of the S.;t_eP speecl A S”’“pre\nous BN

e, g gloWers

_the i Jsthe tits speed ratio St
IS its atiO lower t e’y |50:|'\||'el'
|0wer ratio of St p,el-,cl(Q _ the Dr Iower -
|tS to speeci c Shaft r,a |osD==1 ep of 1 f sy OO rqt|0
Eriﬁ.?d ;.'-i::_'-U atio = - one S
s .' & : " thelower fto
previsus DH:r' ItS the:ses the 0 of 5 e Qs . — I Speed L
tio p e6 d p Uf speed e
ratio — peed
speed i msr'gr = th olsl ST the £O —

of itg . rat\ower i

spee -0 7

Sp5ed g B U
. the J w : y raio O
shag: rev oue IS PeSH pete)
- - m ' 3 rF-v:OLis of
P, N Of S

ot
U.:)_D ey f§IEep Jr‘gﬁgo .8“ ratlo Step IS speed
c,r;atlo Its t e
awer Ste IESlower
VA’ P Previgus s IStver
of ) 4 the
uf wL‘ané & d 3 e 5
ratio spee 0 .
% Of step Of afth I;})rs_'\.rrous Sg IOWEF
speed ItSShcti‘ 0o Oftu r!:'_i%
of shafi Spce‘j 5?'99(1 it Fati” g prev:q_g__g
ratio haft shecd 2 | L 1.
t° U'IEd B e revious one
,Of - previous
Osteed‘ -‘ 5 lower
Spee . spee ratio

DI"IE'

E%;E!.uogfg
Eo
tHﬁ‘e o

a%p

SteD



Find the route to go in and comes out and give conclusion using that path
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Shaft - 1/ Input

Shaft - 2 / Intermediate
I I Shaft - 3 / Output

Answer: Pair of gearsin shaft - 1



input speed is misplaced

Answer: In Stage one



